5/1-6(X-K) FINAFRGAT—ILRAYT FLERR BETFE

18 28 3H 4H 5H
+ H A X 7K
1000-1145 1000-1130 900-1200 1000-1245 1000-1400 1000-1200
BOER: ZF3Im¥ o0 ZF10m¥ o0 ZF3m ZF10m +3m 5F3m
FiE T 6 HisE FE HisE FiE | e |
HE FLEERRR—Y FLEERRR—Y FLEEBRRR—Y FLEERRR—Y FLEERRR—Y CSFLERFvURIL2
BfE | 2xYouTubelE&HS51 | 2xXYouTubelEHESS5] ARXYouTubelBHES5] ARXYouTubelEHSSE] ARXYouTubelEHSSE] 7
1230-1420 1230-1454 1230-1600
HuER BF10my o0 BF¥3mIo0O BF10m
BoE FLESBIERR—Y AR FLEFIERR—Y AR - -
Bife YouTube YouTube CSTLEFvoxI2

1600-1800
ZF3m>o0

S
/

1600-1800
LZF10m>o0
RRS

1645-1845

1600-1800
ZF3m
SRE%

1600-1800
ZF10m
HERE

1600-1745
B5+F3m
R

B2 | cSTLEFrIRIL2

1800-1940

S¥10m>2o0

4.

B2 | CSTLEFrURIL2

CSTLEAFvIXRIL2

1800-1940
SF3m>o0
RRS

CSTLEAFvIRIL2

FLEERRR—Y
ARYouTubel&BEHS5]

(8%&E(8H)ICSTLE#FvIRIL2

1845-2030
E+10m
HERA

FLEBRRR—Y
ARYouTubel&BEHS5]

(8%&E(8H)ICSTLE#FvIRIL2

FLEERRR—Y
ARYouTubel BEHES5]

(5%E(88)ICSTLEFvI=RIL2

1800-1945
EF10m
SRAS

FLEFBRRR—Y
ARYouTubel HHS5)

(5%E(8H)ICSTLEFvI=RIL2

CSTLEFvIRIL2

1800-1930
ZF10m
RE

CSTLEIFvIXRIL2

CSTLEIFvIRIL2




